A

Connecting Terminal

9
@)
0
N
|
|
D =015 10.5
E <015 5
F 10 -
el
’ 1
7'V v bR A - ©
PCB supecifications g
=1
|
—r
HA-H! : O—|
—
23 11 PRERG-G (1 /1)
Witk Specifications.
#RE/Part No. & /Part No. FE Material #R#&/ Standard stik/Size BB/ Treatment {4 /Remark
1 E—/L K(A)  Base(n) PBT UL94V-0 ) Black
2 E—/L K (B) Base(B) PBT UL94V-0 B@ Black
3 2427 PA Contact®) | VAT Phosphor Bronze | C5I91R-1/2H | K JE 10.4 [Z o7/ A o F NkelPlated | conus min i 750 e
4 %27 BB Contact (B) o Bress C2680R i JE 0.8 G A v Gold-Plated
5 R E R Screw # Steel SWCH/SPCC [ M4 X0.7X100 | = &7 /L A % Nickel-Plated TY—=Z2 TypeD
6 ANAF v b Hexagon nut & Steel SWCH M4X0. 7 =w VA F Nickel-Plated
7 U B A Mounting Scre 73 Steel SWCH/SPCC MAX0.7T |=9 XA YH Nkl Plated o
8 WU sy —Flat washer | # Bress C2680R-1/2H | # JE 10.5 | =4/ A 2% Nekel-lated o
9 EV 7 E ring AT VLA Stainless steel SUs MW 10.4¢3
10 Hy 23— Cover HYH—#%—k Polycarbonate UL94V-2 % B Transparence)
11 Mft4 . wewrtal riciind B SR Bress C2680R WO t1.2 [= v A yF Nickel-Plated
12 A >4 — h4 8 Hexagon nut 23 Steel SWCH M4%0.7 =V Ay Nickel-Plated

EwF . pitch 11mm

2;2

Type Number F 5 2 1 3 A C
=
x & AC250V 20A
g
HERIEM DC500V  1000MQ KL E
Tusulation Resistance] DC500V  1000MQ and over
fit & £ AG2500V 143 LLE
Withstands Voltage | AC2500V Iminute and over
R CE
Screw Dia:r‘n:eter M4
= 2
Compa;::liblemWire 8. 5mm
HREERTF R3.5-4

Recummended Crimp Termina

—f% A2~ General Tolerance 0.5

|Rf§/80ale Y, B Unitmm

T4 /Poles 8P 18P
A 108 218
B 90 200
C 99 209
D 11 187
E 98 208
F 88 198

- EESCHE
« Ordering Form:Type No.
CERRE R KT BV 21 AN,

* Connection screw:Tightening torque is 1.4N+m
NI AT VA LR TEY T 0T IHAOBITECHTERBIZ-CA” XL -CT" & TRRAL IS,
T-CT VAR L 720 E 5,

« The cover is optional, so if you wish, please write "—CA” or "-CT” at the end of the ordering method.
”~CT” will be delivered as an attachment.

s ZOMA T a L ¥y a— hE— A (F2113,F2113B)
« Other optional *Jumper (F2113,F2113B)

In addition,

Ls.16] p.

No. of Poles(P)




